S
L.

AT A= {z]x

1.

@ 29 ® 30 @ 31 ® 32

O 28






e F 8L AL

oo
rlo

5
© n({e}) =0
@ n({2}) =2
® n({ ] v 691 F5}) =6
@n €T x}:
({z | oE 2 <z <30 AAF}) =1

® n
({1, 3, 5}) —n({3}) =2



ol

olp

—

T
il
<+
mJ
Nf

R

o
1]

Tor

shel g2l

@ =717} 40kg ©]

o me)

il

. 7o}z

@ o

—

o
il

=0
Tor
A
—
file)

N
min

Ho



ohe & R 57t A AL

@ {L, 0, V, E}

@ {z|zx 259 o5}

® {z|zE -2 <z <09l A5
@ {z|z= BT}

® {z|ze 1080 22 25



ol
<

Nfo

olp

10Et 2 )

S
L.

@ {zlx

@ B9 1Y

| A5 7Y

—

A

@ =717} 40kg ©]

—

o
il i

Ayl
olJ
Mo
g

® 7



7. UeT &2 A2

Mo

@ n({1, 2, 3} — {1, 2}) =3

@ n({1, 2, 3}) —n({3, 4}) =1
® n({1, 2, 3}n{3, 4}) =3

@ n({1, 2, 3}) —n({4, 5, 6}) =3
® n(@)=1



©
=]

7, %8050 A4S Q & Uerd o, ot

o
ol

o|J
S
9|

ol
Nfo

®@NcQcz

@ ZcQcCN

® QcZcN

® NcZcQ

@ ZcCcNcCQ



9.

AN B & ¥l trolojaglo 2 Ll 2

D

@
®

?

Tlo

O
.

A=B



10.

n({1, 3, 5, 7, 9}) —n({3, 6, 9}) ¢] 27

@1 @ 2 ® 5



AT A = {2.4,6,8) 4 W, T F A ] FEAFo] obd 27

@ {2,4,6} @ ¢ @ {0,2,4,6}
@ {6,8} ® {2,6,8}



12 JFA={0,1,23} 40, 5 F A F

@ {1,2,3} @ {0}
@ {0,1,2,3} ® {2,3,4}



® {0}
® {X | x= 02} 1AFe] 9 _/l\‘}

@ {X|X%Z-ZH\‘}

@ {x|xk 120 L AeAs)



oju

a4

14.

© AuA®=U ©U=go

@ ANAC =g

%)

@Uu-4

© (49 = A




AL

15. o

<2
25

o
Mo

&
® A={a,b,a,b} & o n(A) =4

@ n ({ | ax 3015t A4} = {3}
® n({a,b,c,d}) —n({a,b,d}) =0

@ n({z | z= 10 ZAHA}) =1

® n({2,3}) —n({1,3}) =2



16. Ac Bolin(A) =17, n(B) =35 < W, n(ANB), n(AUB) & 212 F5}oie},



H
o
RS
o]

ol

©24cQnNN ©® -32¢cZ

@D 0eQnN

@2eQ-72

@ —4€eN




18.

oL w34 35 F WA Folst: el 19

217, W7to} Wio] BEE Hlojshs 4o 3

% 7}



19.

& X, Yeoltatol 7|3 Q EX QY ={zxylr e X A ye Y} et

3%
43t
={0, 1, 2}, B={1, 2} 4 @, Q AB & F3}¥?

= 19 n
Ip

@ {0, 1, 2, 4} @ {0, 1, 2} ® {o, 1}
@ {0} ® {1,2}



20.

sy
=

(& | 2 100 ©]4F 200 ©]8} 159] w5},
{x | = 80 Ho} Zh& 29] HH/\} o] o,
n(B) —n(A)=?

=
=
A
B

® 32



A A= {z|2¥ 5 oI5| AA% },
B={yly=z—-2,x € A},

C={a—4,a+1,2a+1, —a} ¥
BNC={-1,2,3} & 9Z35l= A4 o 9 gH2?

BA {

El

@1 @ 2 ® 3 @ 4



22. HAF A= {z|z= Al 401 618 AF T}, B={yly=2+3,2 € A},
C={a—4,a+1, 2a+2, —a} 4,
BNC={-3,-1, 8} & WZ5h= A o 9 2 Fstofet.



23. FAFA={1,2,3,4,5},B={2,3} ol ol ANX =X, (ANB)UX =X
& WEske A X o AeEr?

O 47} @ 671 ® 871 @ 1270 ® 1670



24. F

15}

H
o &

of ol

1l

A= {z|2¥ 409 ok}, B = {2,4,8,10} ofl thoto] AxB = (AUB)-A
o, (A B)x A& F5tofet,



tol zps) o o

YU = {z|ze70°l5

kel
H

A

25.

A—B={6}

B—A={35)

(AN B)={2,4}




26. AAYH U = {r] ot 14 oJ5k] A5} 9 R2HT A, B ol Hhokol AnB =
{2,812}, A= B={4,10}, A% N B = {6} & W, Y& B & Fofoieh



27.

AT A= {z]zx 189 o} 4 W, 5 22 WEsh= A9 B 9 7"
BcA,{23}cB,n(B)=4
@® 470 @ 671 ® 871 @ 1074 ® 1274



28.

dtste] o djAtel 19hd 10 B

ol

shago] 207, oo 27

ts]o] B Fojet sty H

514 35 0] A9 Hefssiet.

ol
=13
=

At g]of Zofet shgol 23

HAA] Tzt



29.

L.

ol 15 Fd w, A EAI°t B =4 ZF

® 124 ® 149 @ 159 ® 16 4

® 104



@ n(@)=1
® n ({1234} —{1,2,3,4}) =1

® o c{o}

@ n({2,4,6} —{4,6,8}) =2

@ n(A)<n(B)°|HACB



FAFA={a, a+1, 7}, B={2, 3,5} A AnB={3} & ", AUB="?

@ {2} @ {2, 3} ® {2, 3, 4}
@ {2, 3, 4, 5} ® {2, 3, 4,5, 7}



